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1. Introduction
Some small changes to the High Level Objectives in Section 4.1 are proposed. Basically, the specific way cost reductions could be achieved has been removed and the ability for existing networks to evolve into an AIPN is emphasised.
2. Proposal
The following changes are proposed to section 4.1 of TR 22.978 (shown revision marked)
______________________________________________________________________________________

4.1  High Level Objectives

The following are the high level objectives that the introduction of an AIPN should fulfil:

· Universal seamless access – an AIPN should allow users to connect to services from a variety of device-types and access methods. This should come about through the use of common protocols, addressing schemes and mobility management mechanisms  The users may not need to know the access method used. Access methods may be selected and changed according to service needs and availability. 

· Reduction of cost – an AIPN should deliver a cost reduction in both the CAPEX and the OPEX for network operators. For example, this could come about through the use of common IT technology equipment and the reduction in the use of mobile network specific hardware and software.
· Flexibility of deployment – Network operators should be able to build and dimension their network according to the needs of their users. The AIPN design should be scaleable and should not preclude the option to use and inter-work with 3GPP defined Circuit Switched domains and legacy handsets if required. Also, the AIPN design should provide an evolution path from previous releases of the 3GPP system (i.e. Rel.-6). This will ensure that network operators can introduce an AIPN and continue to make best use of existing network elements.
______________________________________________________________________________________




































































































































































































